THE ANCIENT ORDER CHOSE THE
MANSONS AND THEZIR VICTIMS

@ THE CONVICTED ® THE VICTIMS
Charles(66) + Manson|{76)...suc.= 142 Steve(71) + Parent(7d4)..... .= 145
Charles(66] + Watson|{92).......= 158 Jay(36) + Sebring(74).......= 110
Leslie(t2) + VanHouten(120)....= 182 Voytek(9B8) + Frykowski(137) = 235
Patricia(77) + EKrenwinkle|122) 199 Abigail(41) + Folger(63)....= 104
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Susan(74) + Atkins{(74)..... «sss= 148 Sharcon(73) + Tate(d46)....... = 113
Total 229 Leno(46) + LaBianca{43).....= B89
Rosemary(1714) + LaBianca({d4l)= 157
Tatal = 954
THE 300

® Charles Manson gave the orders and Charles Watzon was the exscutioner.
Charles Manson's name added to Charles Watson's name is 142 + 158, adding

to exactly 300.

THE "DOCTOR" CODE ¢ MANEON = EXACTLY 400:

® One of the ANCIENT ORDER's “Doctor™
codes iz "I" and "E", the vowels in

" o ¥ W i Bie i men-de-le Fism _,rmeu'da]éw'{-arn,u"
. Dmitrd ‘,":“"j ; MEEEGEL‘EE:' e Wote "Leslie {Dmitrl Ivanovich Mendeleey (1834-
YanHouten”, the "I&E" in Leslie. Then 1907) Russian chemist] n synchetic

Erspwinkle and Ssbring. That iz E2 & 122 radigactive element (Md: at.no, 101)
# T4 = 258, That is the doctor-coded

names adding to 258. Then when Charles
Manson's 142 is added to that, 258 + 142 = 400, it adds to exactly 400.
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THE VICTIMS, THE CONVICTED, THE DIFFERENCE=130; THE 0.J. CASE & 130:

® The victims total = 959, The convicted total = B29, The difference is
859 - B2D0 - 130. How lock at the "0.J. Simpson" case, the subseguent "CRIME
OF THE CENTURY":

®O.J.(25) + Bimpson|1058) -= 130,

® Nicole|58) + Brown(72) = 130,

® Ronald{64) + Goldman(66) = 130. & 1599
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#The ANCIENT ORDER's Laser-Ray system allows them total control of
others. They can choose the victims of crimes: choose who will make them
victims, and choose the date it all happens. The ANCIENT ORDER bring the
parties together as friends, sometimes years before the appointment date
of their deaths, That way there is less suspicion. They can do the same
year after year without anvone catching on. Everyone is chosen.

#That iz why their names add up the way they do and also why the serial
killers below names' all add out to exactly "7".

RICHARD(1B8+%+3+8+1+14+4=61) SPECK(19+16+5+3+11=54) 61+54m115,

CHARLES [ 3+B+1418+1245+19=66) MANSON(13+1414415415414=76) 66476=142. .. .. .
JOEN (10415482 14wd7) WAYNE(23+1+25+1445=68) GACY(T+143425=35) 47468+36=157.. . 1+5+1=7T
JEFFREY(10+5¢646+1845425=75) DAHMER(4+1+8+71 J+5+18=40) 7549124, ..

RICHARD( 18494 3+83+1+18+4=61) RAMIREZ(18+14+13+9+18+5+26=00 §1+%90=157,
ANDREW( 1+14+4+18+5623=565) CIMANAN{3I+21+1+14+1+14=68) 65+88=133......
THE(204845=33) DNMABCMEER(21+14+1+2415413+2+5+18=91) 33:31a124.,




